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A | mxm | wom|TOF\0 00 T B g | ooy | 0 1E | SETN\EAT g | g | I | pepy | 1B 1o o6op | A |\ B\ o | fmavzn | % 2490 |y | o | st | imv2s | 10pom |9 | o9 | o | OS5 01 | AT B I2B T | g | A
noss | n& 8 £ sz | st | Baz |85 gow BOR 01200 | £ neg |81 e rosh |e/mi% | B | % % |25 | FH 0 3ipp
5l nZEH 1o o6 | BRohiE | (1 2 lm|e o | LB |z |0 12002 Broviir| 15 | a7 | 27 Bt | €18 |3 | Al alE| o |5 5%
& |xra|%00 axr|o ton|muik |32 | BOF | 152 I noik | Ara|lB e il (@A mnm x| v |BOR e
n |1%8 BH | /% |BL LR oEwm % BH AN 1B
% iﬁz f=[=2 & [Zxtd #
A% |nEE AE&
ppm | ppm B 8 mg/m3 | mg/m3 | H B E 8 ppm | ppm | ppm B B ppm | ppm B ppm | ppm B ue/m3| we/md| B % (ppmC) | (ppmC) [ (B)
—#& [ =L = EW&FT| 0.030( 0.059 4 0f O| 0.062| 0.163 50 48] x x [ x| 0.019[ 0.034| 0.145 38 5[ x| 0.008| 0.019 ofO|O 1.0 2.6 010|O 0.43| 1.67 203
RE 0.030| 0.060 7 0f O| 0.064| 0.193 47 471 % x [ x| 0.024| 0.042| 0.207 66 3 x| 0.008| 0.018 ofO|O 1.0 2.4 010| O
Eni5 0.028| 0.055 3 0f O| 0.058| 0.164 35 35 x x [ x| 0.025[ 0.043| 0.167 59 7 x| 0.007| 0.015 ofO|O 0.9 2.4 010|O
=yE 0.037| 0.065 13 7 x| 0.056| 0.167 33 331 x x [ x| 0.020[ 0.036| 0.144 50 3 x| 0.007| 0.018 ofO|O 0.50| 1.62 269
EE 0.027| 0.053 2 0f O| 0.048] 0.151 29 291 x x [ x| 0.023[ 0.040| 0.140 62 3 x| 0.007| 0.015 ofO|O
il 0.023]| 0.046 0 0f O| 0.039| 0.105 8 3( O x [ x| 0.021 0.035| 0.107 35 0f x| 0.006| 0.011 ofOo|O 0.8 1.8 0 0.39| 1.36 187
Jak: Ll 0.023| 0.047 0 0f O| 0.064] 0.170 52 52| x x [ x| 0.021 0.038| 0.148 49 1] x [ 0.006 0.014 ofO|O
rE 0.029| 0.057 3 0f O| 0.051| 0.150 26 25| x x [ x| 0.024[ 0.042| 0.220 60 11 x| 0.008| 0.020 ofO|O 0.9 2.0 010| O
E=2id 0.025) 0.051 1 0[ O] 0.054] 0.148 33 31 X x [ x| 0.020f 0.038] 0.162 42 3[ x
[s5HE] X% 0.028| 0.055 33 7 0.055| 0.157 313 303 0.022| 0.039]| 0.160 461 36 0.007) 0.016 0 2.2 0 0.44| 1.55 220
B (BABH 0.038) 0.069 21 14 x| 0.070| 0.194 71 70| X x | x 0.014] 0.032 210 x 2.7 0000 0.62| 2.54 270
[&5HE] X 0.038] 0.069 21 14 0.070] 0.194 i 70 0.014] 0.032 2 2.1 0 0.62| 2.54 270
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A | mxm | wom|TOF\0 00 T B g | ooy | 0 1E | SETN\EAT g | g | I | pepy | 1B 1o o6op | A |\ B\ o | fmavzn | % 2490 |y | o | st | imv2s | 10pom |9 | o9 | o | OS5 01 | AT B I2B T | g | A
noss | n& 8 £ sz | st | Baz |85 gow BOR 01200 | £ neg |81 e rosh |e/mi% | B | % % |25 | FH 0 3ipp
5l nZEH 1o o6 | BRohiE | (1 2 lm|e o | LB |z |0 12002 Broviir| 15 | a7 | 27 Bt | €18 |3 | Al alE| o |5 5%
& |xra|%00 axr|o ton|muik |32 | BOF | 152 I noik | Ara|lB e il (@A mnm x| v |BOR e
n |1%8 BH | /% |BL R LEE % BH AN 1B
3 BAfz|fz2& =39 B
A% |nEE AE&
ppm | ppm B 8 mg/m3 | mg/m3 | H B E 8 ppm | ppm | ppm B B ppm | ppm B ppm | ppm B ue/m3| we/md| B % (ppmC) | (ppmC) [ (B)
—#& [E L= EW & 0.029( 0.053 2 0f O| 0.047| 0.138 21 26| % x [ x| 0.021 0.035| 0.109 39 0f x| 0.008| 0.016 ofO|O 0.9 2.1 010|O 0.38| 1.42 172
RE 0.029| 0.055 4 0f O| 0.058| 0.155 50 491 x x [ x| 0.025( 0.042| 0.142 56 2 x| 0.007| 0.018 ofO|O 0.9 2.0 010| O
Eni5 0.027| 0.051 0 0f O| 0.053| 0.164 42 41 x x [ x| 0.022[ 0.039| 0.135 62 3 x| 0.006| 0.012 ofO|O 0.7 1.9 0
BR 0.032| 0.055 3 0f O| 0.050| 0.146 33 31 x x [ x| 0.020[ 0.036| 0.127 38 5[ x| 0.006| 0.014 ofO|O 0.51] 1.91 2N
EE 0.025| 0.047 0 0f O| 0.045| 0.162 30 28] x x [ x| 0.024[ 0.040| 0.145 42 5[ x| 0.006| 0.012 0ofO|O
il 0.023| 0.044 0 0f O| 0.054] 0.135 35 33 x x [ x| 0.025( 0.042| 0.169 57 5[ x| 0.005| 0.015 ofO|O 0.7 1.6 010| O 0.35| 1.17 181
Jak; Ll 0.024] 0.045 0 0f O| 0.058| 0.165 52 51 x x [ x| 0.023| 0.040| 0.131 39 4 x| 0.004]| 0.011 ofO|O
rE 0.029| 0.052 2 0f O| 0.049| 0.150 35 341 x x [ x| 0.026[ 0.045| 0.145 78 7 x| 0.008| 0.016 ofOo|O 0.7 1.7 010| O
E=2id 0.024] 0.047 0 0f O] 0.052] 0.149 34 32 x x [ x| 0.023[ 0.040| 0.168 57 10| x
[s5HE] X% 0.027] 0.050 11 0 0.052] 0.152 338 325 0.023| 0.040| 0.141 468 41 0.006| 0.014 0 0.8 1.9 0 0.41] 1.50 208
EE 3 |::EN=EE 0.039| 0.067 19 12 x| 0.065| 0.170 56 55| x x| x 0.009| 0.022 ofOo|O 1.1 2.4 00| 0O 0.55| 2.33 251
it B #E 0.032) 0.057 3 0[ O] 0.067] 0.211 62 62 X x [ x 0.8 2.0 0000
[&5HE] X% 0.036] 0.062 22 12 0.066) 0.191 118 117 0.009] 0.022 0 1.0 2.2 0 0.55) 2.33 251
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A | mxm | wom|TOF\0 00 T B g | ooy | 0 1E | SETN\EAT g | g | I | pepy | 1B 1o o6op | A |\ B\ o | fmavzn | % 2490 |y | o | st | imv2s | 10pom |9 | o9 | o | OS5 01 | AT B I2B T | g | A
noss | n& 8 £ sz | st | Baz |85 gow BOR 01200 | £ neg |81 e rosh |e/mi% | B | % % |25 | FH 0 3ipp
5l nZEH 1o o6 | BRohiE | (1 2 lm|e o | LB |z |0 12002 Broviir| 15 | a7 | 27 Bt | €18 |3 | Al alE| o |5 5%
& |xra|%00 axr|o ton|muik |32 | BOF | 152 I noik | Ara|lB e il (@A mnm x| v |BOR e
n |1%8 BH | /% |BL R LEE % BH AN 1B
% iﬁz f=[=2 & [Zxtd #
A% |nEE AE&
ppm | ppm B 8 mg/m3 | mg/m3 | H B E 8 ppm | ppm | ppm B B ppm | ppm B ppm | ppm B ue/m3| we/md| B % (ppmC) | (ppmC) [ (B)
—#& [E L= EWm & 0.029( 0.058 3 0f O| 0.047| 0.141 28 25| x x [ x| 0.020[ 0.033| 0.102 21 0f x| 0.006| 0.012 ofO|O 0.9 2.3 010|O 0.37] 1.51 1
RE 0.030| 0.059 6 0f O] 0.060| 0.177 47 451 x x [ x| 0.022[ 0.037| 0.128 34 1] x [ 0.005( 0.011 ofO|O 0.9 2.3 010| O
Eni5 0.027| 0.054 2 0f O| 0.042| 0.149 25 221 % x [ x| 0.022[ 0.036| 0.134 36 1] x [ 0.005( 0.010 ofO|O 0.7 2.1 010|O
BR 0.032| 0.055 1 0f O| 0.055| 0.175 44 41 x x [ x| 0.018[ 0.033| 0.126 24 1] x [ 0.005( 0.010 ofO|O 0.49 1.50 256
EE 0.025| 0.049 0 0f O| 0.042| 0.129 23 21 x x [ x| 0.023[ 0.038]| 0.137 32 1] x [ 0.005( 0.011 0ofO|O
il 0.022| 0.043 0 0f O| 0.052| 0.130 32 31 x x [ x| 0.020[ 0.035| 0.139 25 1] x [ 0.004| 0.007 ofO|O 0.6 1.6 0 0.31| 1.49 134
Jak; Ll 0.023| 0.046 0 0f O| 0.047| 0.140 21 201 x x [ x| 0.022[ 0.037| 0.154 29 1] x [ 0.004| 0.009 ofO|O
rE 0.028| 0.055 2 0f O| 0.051| 0.147 31 291 x x [ x| 0.021 0.035| 0.124 42 2 x| 0.006| 0.014 ofOo|O 0.6 1.5 010| O
E=2id 0.026] 0.054 1 0f O] 0.055] 0.170 39 37 x x [ x| 0.021f 0.035] 0.155 42 1] x
[s5HE] X% 0.027] 0.053 15 0 0.050| 0.151 290 274 0.021] 0.035| 0.133 285 9 0.005| 0.011 0 0.7 2.0 0 0.39] 1.50 187
EE 3 |::EN=EE 0.040| 0.073 26 19 x| 0.065| 0.181 59 571 x x| x 0.007| 0.016 ofOo|O 1.1 2.6 00| 0O 0.55| 2.02 247
it B #E 0.035] 0.064 12 5[ x| 0.061) 0.168 42 40 X X [ x 1.0 2.5 0000
[&5HE] X% 0.038] 0.069 38 24 0.063] 0.175 101 97 0.007] 0.016 0 1.1 2.6 0 0.55) 2.02 241
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5 ae| mn |£28 1 | & @k | moz | 5|2 amo | EH2) gme | 1S9 | mm | a aos| w5 |8 . L e | wn |g/miz | & | 6~om |0
A | mxm | wom|TOF\0 00 T B g | ooy | 0 1E | SETN\EAT g | g | I | pepy | 1B 1o o6op | A |\ B\ o | fmavzn | % 2490 |y | o | st | imv2s | 10pom |9 | o9 | o | OS5 01 | AT B I2B T | g | A
noss | n& 8 £ sz | st | Baz |85 gow BOR 01200 | £ neg |81 e rosh |e/mi% | B | % % |25 | FH 0 3ipp
5l nZEH 1o o6 | BRohiE | (1 2 lm|e o | LB |z |0 12002 Broviir| 15 | a7 | 27 Bt | €18 |3 | Al alE| o |5 5%
& |xra|%00 axr|o ton|muik |32 | BOF | 152 I noik | Ara|lB e il (@A mnm x| v |BOR e
n |1%8 BH | /% |BL R LEE % BH AN 1B
% iﬁz f=[=2 & [Zxtd #
A% |nEE AE&
ppm | ppm B 8 mg/m3 | mg/m3 | H B E 8 ppm | ppm | ppm B B ppm | ppm B ppm | ppm B ue/m3| we/md| B % (ppmC) | (ppmC) [ (B)
—#& [E L= EW&FT| 0.030( 0.058 2 0f O] 0.052| 0.139 31 31 x x [ x| 0.022| 0.038] 0.141 51 2 x| 0.006| 0.012 ofO|O 0.9 2.1 010|O 0.44 1.97 215
RE 0.030| 0.058 4 0f O| 0.053| 0.138 24 241 x x [ x| 0.021| 0.036| 0.112 4 0f x| 0.006| 0.012 ofO|O 0.9 2.3 010| O
Eni5 0.027| 0.054 2 0f O| 0.044] 0.133 21 2711 % x [ x| 0.028 0.048| 0.170 74 10( x | 0.005| 0.011 ofO|O 0.7 1.8 010|O
BR 0.031] 0.056 1 0f O| 0.056| 0.147 35 35| x x [ x| 0.020[ 0.037| 0.145 60 2 x| 0.006| 0.012 ofO|O 0.50| 1.77 267
EE 0.027| 0.052 0 0f O| 0.036| 0.103 8 5[ x x [ x| 0.027[ 0.046| 0.175 76 8 x| 0.006| 0.012 0ofO|O
il 0.024] 0.046 0 0f O| 0.049| 0.129 22 22| x x [ x| 0.026[ 0.046| 0.218 83 10( x| 0.005| 0.008 ofO|O 0.6 1.5 0 0.32| 1.31 150
Jak; Ll 0.023| 0.049 0 0f O] 0.051| 0.139 26 25| x x [ x| 0.024 0.043| 0.163 68 6[ x| 0.005| 0.010 ofO|O
rE 0.027| 0.053 1 0f O| 0.052| 0.132 25 25| x x [ x| 0.023[ 0.041| 0.158 62 5[ x| 0.006| 0.015 ofOo|O 0.7 1.6 010| O
E=2id 0.027] 0.055 1 0f O] 0.060] 0.169 40 40  x x [ x| 0.023[ 0.041] 0.114 38 0f x
[s5HE] X% 0.027] 0.053 11 0 0.050| 0.137 238 234 0.024]| 0.042| 0.155 553 43 0.006) 0.012 0 0.8 1.9 0 0.42| 1.68 211
ZE|:EN=EE 0.040| 0.066 2 14 x| 0.066| 0.164 56 55| x x| x 0.008| 0.015 ofOo|O 1.1 2.4 00| 0O 0.58| 2.21 261
=z 0.036| 0.062 1 4 x| 0.056| 0.136 28 28] x x [ x 1.0 2.3 010|0O
=HEaH% 0.038) 0.061 8 1] x
[&5HE] X 0.038] 0.063 40 19 0.061) 0.150 84 83 0.008] 0.015 0 1.1 2.4 0 0.58] 2.21 261
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“BILER FERIRMA EREAFLEF “BiLRE —BiEE BIETRMA FABRILAR
Py EEEATH EE®E
] #0E| fEn . e o008
CEIT LIS B | meast |0, 1ong | < |, B | 200 | |, - - AT49|35. 0 o | D3
Ay ma |S28 @ o | 2 |k | /32 | E| 2| 2o | BE2 | gpo | HH ) mn | m o | R | BB oy | B B BT | i |g/mz | & | |6~ | S0 | pwiy
B TiiE AT E| /Mm% g | g AES B . AT g AT o |8 |8 3% ~ 9| g LT
W | mEm | sy |TEOF (00000 AT B gy | mapon |0 10me | BET (AT | gy | TR | Cprpg’| TR | oot A i | manon |0 0400 | gy | by | s | imop2s | 10ppm | g | o | agim | EQF|35.0u | BRI M| ISBI | pg | fEAS
Iy FIER T mosy | nza | go |2 (TR | maE | soiEnt| B2 | | o | B0 | GO 0% | 020 | 2| TR G e | | | T e R s || P98 |e/miE | B | & | | BEF |00 0. 310
i |zrm (%200 M g r- {0 tong |k | B S o (AT | 19 fnut | B R | | it et i |@ar|amn el v |TOR cea
w158 B¥ | /m% |EsL : 57 |oEH 5 - BH =A% B R
;& Bafz|fz2 & [y 5
B# |OEE AES
ppm ppm B B mg/m3 | mg/m3 [ B =] E 8 ppm | ppm ppm B B ppm ppm B ppm | ppm =] wue/m3| we/md| H % (ppmC) | (ppmC) | (H)
—h% [ S Uz FEm&AT 0.029( 0.052 2 0| O| 0.051| 0.143 26 24 X x| x| 0.022] 0.037| 0.093 32 0| x| 0.006( 0.013 0O O 0.8 1.7 0] O[O 0.39 1.53 144
Eich=d 0.030( 0.055 4 0l O| 0.052 0.131 25 23 X x| x| 0.022] 0.037| 0.108 41 0 x| 0.006( 0.013 0O O 0.8 2.0 0O O
Enis 0.026( 0.048 2 0| O| 0.048( 0.152 31 30 X x| x| 0.024] 0.040| 0.122 42 1] x| 0.005| 0.010 0O O 0.7 2.0 0] O[O
aR 0.034( 0.058 4 0l O| 0.056( 0.161 36 33 X x| x| 0.021| 0.038] 0.127 40 2| x| 0.006( 0.011 0O O 0.47 1.90 251
58 0.024( 0.047 2 0| O| 0.061| 0.167 40 40 X x| x| 0.025| 0.043]| 0.157 75 4] x| 0.006( 0.011 0O O
R 0.025( 0.048 2 0l O| 0.052 0.127 26 23 X x| x| 0.025| 0.043| 0.142 55 4] x| 0.005( 0.012 0O O 0.6 1.4 0 0.34 1.42 154
bax:!l 0.023| 0.045 1 0| O| 0.056( 0.168 43 42 X x| x| 0.028] 0.049| 0.143 98 10{ x [ 0.005| 0.010 0O O
RE 0.030( 0.057 3 0] O| 0.054( 0.157 34 32 X x| x| 0.024] 0.041| 0.118 43 0l x| 0.007( 0.014 0lO|O 0.7 1.7 0O O
b=2:] 0.028| 0.056 5 0] O] 0.061| 0.154 51 50 X x| x| 0.025| 0.044| 0.144 69 7| %
[5£5HE] X 0.028( 0.052 25 0 0.055( 0.151 312 297 0.024| 0.041] 0.128 495 28 0.006( 0.012 0 0.7 1.8 0 0.40 1.62 183
Sk EN=F 0.040( 0.068 23 16| x| 0.065| 0.155 51 50 X x| x 0.008| 0.016 0lO|O 1.1 2.1 0]O|O 0.58 2.55 21
Pud =k 0.036( 0.058 6 0l O| 0.059( 0.154 42 42 X x| x 1.0 2.2 0]O| O
=EaH 0.041( 0.066 17 10| x 1.0 2.0 0] O[O
RANE B B 0.031| 0.052 2 0] O
[&EHE] X 0.037| 0.061 48 26 0.062| 0.155 93 92 0.008[ 0.016 0 1.0 2.1 0 0.58 2.55 271
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5 ae| mn |£28 1 | & @k | moz | 5|2 amo | EH2) gme | 1S9 | mm | a aos| w5 |8 . L e | wn |g/miz | & | 6~om |0
A | mxm | wom|TOF\0 00 T B g | ooy | 0 1E | SETN\EAT g | g | I | pepy | 1B 1o o6op | A |\ B\ o | fmavzn | % 2490 |y | o | st | imv2s | 10pom |9 | o9 | o | OS5 01 | AT B I2B T | g | A
noss | n& 8 £ sz | st | Baz |85 gow BOR 01200 | £ neg |81 e rosh |e/mi% | B | % % |25 | FH 0 3ipp
5l nZEH 1o o6 | BRohiE | (1 2 lm|e o | LB |z |0 12002 Broviir| 15 | a7 | 27 Bt | €18 |3 | Al alE| o |5 5%
& |xra|%00 axr|o ton|muik |32 | BOF | 152 I noik | Ara|lB e il (@A mnm x| v |BOR e
n |1%8 BH | /% |BL R LEE % BH AN 1B
% iﬁz f=[=2 & [Zxtd #
A% |nEE AE&
ppm | ppm B 8 mg/m3 | mg/m3 | H B E 8 ppm | ppm | ppm B B ppm | ppm B ppm | ppm B ue/m3| we/md| B % (ppmC) | (ppmC) [ (B)
—#& [ =L = EW&FT| 0.030( 0.059 6 0f O| 0.044] 0.107 12 M x x [ x| 0.019[ 0.031] 0.109 33 0f x| 0.006| 0.012 ofO|O 0.7 1.9 010|O 0.43| 1.77 180
RE 0.029| 0.054 4 0f O| 0.048| 0.118 18 14] x x [ x| 0.019( 0.033] 0.117 26 0f x| 0.005| 0.011 ofO|O 0.8 2.2 010| O
Eni5 0.025| 0.051 2 0f O| 0.042| 0.125 24 21 x x [ x| 0.024[ 0.039| 0.130 42 1] x [ 0.005( 0.011 ofO|O 0.7 2.2 010|O
=yE 0.036| 0.063 1 4 x| 0.055| 0.127 31 30| x x [ x| 0.020[ 0.036| 0.107 39 0f x| 0.006| 0.012 ofO|O 0.45| 1.94 230
EE 0.027| 0.052 2 0f O| 0.059| 0.138 33 31 x x [ x| 0.022[ 0.038] 0.107 37 0f x| 0.006| 0.012 ofO|O
il 0.023| 0.044 0 0f O] 0.053| 0.123 18 17 x x [ x| 0.020[ 0.035| 0.130 24 1] x [ 0.006| 0.009 ofOo|O 0.6 1.5 0 0.33] 1.13 156
Jak: Ll 0.027| 0.054 4 0f O| 0.055| 0.143 37 36| x x [ x| 0.026[ 0.044| 0.185 63 7 x| 0.005| 0.011 ofO|O
rE 0.029| 0.055 3 0f O| 0.054] 0.125 26 23] x x [ x| 0.024 0.041| 0.166 57 1] x [ 0.007| 0.013 ofO|O 0.6 1.7 010| O
E=2id 0.026] 0.053 3 0f O] 0.061] 0.150 37 35 x x [ x| 0.025[ 0.043] 0.164 54 2| x
[S5HE] X% 0.028]| 0.054 35 4 0.052] 0.128 236 214 0.022| 0.038| 0.135 375 12 0.006| 0.011 0 0.7 1.9 0 0.40| 1.61 189
EE|::EN=EE 0.043] 0.072 40 33| x| 0.063( 0.135 42 41 x x| x 0.008| 0.015 ofO|O 1.0 2.3 00| 0O 0.56 75 267
=23 0.035| 0.062 8 1] x [ 0.057| 0.127 30 211 x x [ x 0.9 2.1 010| 0O
=A% 0.041] 0.068 19 12| x 0.9 2.0 00| 0O 0.53| 1.68 254
AFIEBH# 0.034) 0.057 4 0| O
[&5HE] X% 0.038] 0.065 il 46 0.060) 0.131 12 68 0.008] 0.015 0 0.9 2.1 0 0.5 2.22 261
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5 ae| mn |£28 1 | & @k | moz | 5|2 amo | EH2) gme | 1S9 | mm | a aos| w5 |8 . L e | wn |g/miz | & | 6~om |0
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—#& [E L= EWm &R 0.031] 0.060 7 0f O| 0.041| 0.098 6 2 x x [ x| 0.018[ 0.031]| 0.100 36 0f x| 0.005| 0.011 ofO|O 0.7 1.5 010|O 0.42| 1.47 222
RE 0.031] 0.062 1 4 x| 0.045| 0.112 10 5[ x x [ x| 0.017[ 0.029| 0.113 29 0f x| 0.005| 0.011 ofOo|O 0.8 1.8 010| O
Eni5 0.026| 0.056 3 0f O| 0.046| 0.110 19 16] x x [ x| 0.020[ 0.035| 0.116 35 0f x| 0.005| 0.010 ofO|O 0.7 1.7 010|O
BR 0.034] 0.058 2 0f O| 0.055| 0.137 32 30| x x [ x| 0.021| 0.038| 0.114 43 0f x| 0.005| 0.010 ofO|O 0.44 2.00 234
EE 0.027| 0.051 1 0f O| 0.048| 0.109 13 1 x x [ x| 0.024| 0.041] 0.131 49 2 x| 0.005| 0.012 0ofO|O
il 0.023| 0.045 0 0f O| 0.046| 0.100 6 of O [O] x| 0.023( 0.039| 0.107 4 0f x| 0.005| 0.010 ofOo|O 0.6 1.3 0 0.30| 0.87 147
Jak; Ll 0.023| 0.049 1 0f O| 0.050| 0.126 18 15 x x [ x| 0.023[ 0.041| 0.137 43 2 x| 0.005| 0.010 ofO|O
rE 0.031] 0.056 4 0f O] 0.053] 0.123 23 21 x x [ x| 0.025( 0.044| 0.130 77 2 x| 0.005| 0.011 ofOo|O 0.8 1.6 010| O
E=2id 0.027] 0.053 4 0f O] 0.055] 0.129 26 23] % x [ x| 0.024 0.041] 0.113 52 0f x
[s5HE] X% 0.028]| 0.054 33 4 0.049] 0.116 153 123 0.022| 0.038] 0.118 405 6 0.005| 0.011 0 0.7 1.6 0 0.39| 1.45 201
ZE|:EN=EE 0.045| 0.079 70 63| x| 0.064( 0.143 54 53| x x| x 0.005| 0.012 ofOo|O 1.0 2.1 00| 0O 0.66| 2.31 310
=z 0.040| 0.074 33 26| x| 0.054( 0.125 26 221 x x [ x 0.9 1.8 010|0O
=A% 0.039| 0.065 13 6 x| 0.076| 0.168 19 791 x x [ x 0.9 1.9 00| 0O 0.49] 1.39 229
AFIE B H# 0.035] 0.060 6 0| O
[&5HE] X% 0.040] 0.070 122 95 0.065) 0.145 159 154 0.005) 0.012 0 0.93( 1.93 0 0.58) 1.85 270
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ppm | ppm B 8 mg/m3 | mg/m3 | H B E 8 ppm | ppm | ppm B B ppm | ppm B ppm | ppm B ue/m3| we/md| B % (ppmC) | (ppmC) [ (B)
—#& [E L= EW&FT| 0.030[ 0.060 6 0f O| 0.039| 0.114 12 8[ x x [ x| 0.019[ 0.032| 0.130 37 3 x| 0.004| 0.008 ofO|O 0.7 1.8 010|O 0.37 1.29 170
RE 0.028| 0.058 6 0f O| 0.040| 0.109 12 8[ x x [ x| 0.015[ 0.026| 0.105 23 0f x| 0.004| 0.010 ofO|O 0.8 1.9 010| O
Eni5 0.025| 0.054 2 0f O| 0.042| 0.128 15 1 x x [ x| 0.016[ 0.028| 0.123 26 2 x| 0.004| 0.009 ofO|O 0.7 1.9 010|O
BR 0.032| 0.055 3 0f O| 0.046| 0.123 18 15 x x [ x| 0.021| 0.037| 0.141 45 2 x| 0.005| 0.010 ofO|O 0.52| 1.53 270
EE 0.025| 0.052 1 0f O] 0.043] 0.117 1 8 x x [ x| 0.026| 0.044]| 0.181 65 7 x| 0.004| 0.008 0ofO|O
il 0.023| 0.047 0 0f O| 0.044| 0.106 13 9[ x x [ x| 0.026[ 0.045| 0.156 13 5[ x| 0.004| 0.008 ofO|O 0.7 1.5 0 0.39| 1.16 189
Jak; Ll 0.024] 0.052 1 0f O| 0.047| 0.138 16 14]  x x [ x| 0.028 0.048| 0.182 18 9 x| 0.005| 0.009 ofO|O
rE 0.031| 0.061 8 1] x [ 0.049( 0.129 21 18] x x [ x| 0.025( 0.043| 0.168 57 4 x| 0.005| 0.011 ofO|O 0.8 1.7 010| O
E=2id 0.025] 0.059 7 0f O] 0.053] 0.139 27 24 x x [ x| 0.020f 0.035] 0.139 37 2| x
[s5HE] X% 0.027] 0.055 34 1 0.045] 0.123 145 115 0.022| 0.038| 0.147 441 34 0.004) 0.009 0 0.7 1.8 0 0.43| 1.33 210
ZE|:EN=EE 0.039]| 0.073 26 19( x| 0.058| 0.144 38 35 x x| x 0.004] 0.010 ofOo|O 1.1 2.4 00| 0O 0.64] 2.13 303
=z 0.040| 0.072 29 22| x| 0.046( 0.113 2 17 x x [ x 0.9 2.1 010|0O
=A% 0.039| 0.065 19 12 x| 0.071| 0.205 64 64| x x [ x 0.8 2.1 00| 0O 0.58| 2.68 291
RFIEBH# 0.033]| 0.060 5 0f O| 0.044] 0.152 25 241 x x| x
BEBH 0.037] 0.062 9 2( x| 0.043] 0.102 8 4  x x | x 0.8 2.0 0000
[&5HE] X% 0.038] 0.066 88 55 0.052] 0.143 156 144 0.004] 0.010 0 0.9 2.2 0 0.61] 2.41 297
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ppm | ppm B 8 mg/m3 | mg/m3 | H B E 8 ppm | ppm | ppm B B ppm | ppm B ppm | ppm B ue/m3| we/md| B % (ppmC) | (ppmC) [ (B)
—#& [E L= EW KA 0.028] 0.050 1 0f O| 0.028| 0.063 0 of O [O] x| 0.018f 0.030| 0.106 26 0f x| 0.003| 0.007 ofO|O 0.6 1.4 010|O 0.33| 1.82 169
RE 0.026| 0.051 1 0f O| 0.031| 0.072 3 of O [O]| x| 0.018f 0.030( 0.118 19 0f x| 0.003| 0.007 ofO|O 0.6 1.5 010| O
Eni5 0.023| 0.045 0 0f O] 0.032| 0.075 3 of O [O] x| 0.018f 0.032| 0.101 25 0f x| 0.004] 0.009 ofO|O 0.6 1.4 010| O
BR 0.030| 0.051 0 0f O| 0.035| 0.078 1 of O [O] x| 0.022( 0.038| 0.107 44 0f x| 0.005| 0.010 ofO|O 0.54| 1.73 318
EE 0.024] 0.046 0 0f O| 0.041| 0.087 3 0of O [O] x| 0.029( 0.048| 0.123 93 1] x [ 0.002| 0.005 ofO|O
il 0.022| 0.042 0 0f O| 0.046| 0.093 4 0f O [O] x| 0.026[ 0.043 0.124 66 1] x [ 0.002( 0.004 ofO|O 0.6 1.3 0 0.34| 0.94 169
Jak: Ll 0.022| 0.044 0 0f O| 0.035| 0.090 4 of O [O] x| 0.029( 0.049( 0.116 88 0f x| 0.004| 0.008 ofO|O
XE 0.029| 0.052 1 0f O| 0.037| 0.082 2 of O [O] x| 0.022( 0.038| 0.095 46 0f x| 0.006| 0.010 ofO|O 0.7 1.3 010|O
E=2id 0.025] 0.050 0 0f O] 0.042] 0.093 4 0f O [O] x| 0.020{ 0.033[ 0.118 20 0f x
[S5HE] X% 0.025] 0.048 3 0 0.036]| 0.081 24 0 0.022| 0.038] 0.112 421 2 0.004] 0.008 0 0.6 1.4 0 0.40{ 1.50 219
EE|::EN=EE 0.038| 0.063 13 6 x| 0.043| 0.094 5 0] O |[Ofx 0.003| 0.007 ofO|O 0.9 1.7 00| 0O 0.68| 2.47 318
=23 0.037| 0.061 9 2 x| 0.032| 0.070 2 00 O |Ofx 0.8 1.6 010| 0O
=A% 0.038| 0.061 10 3 x| 0.050| 0.106 9 2[ O x| x 0.7 1.6 00| 0O 0.59| 1.34 309
RFIEBH# 0.031) 0.051 0 0f O| 0.041| 0.089 4 00 O |Ofx
BEBH 0.034] 0.055 1 0[{ O] 0.034] 0.071 0 0] O |Ofx 0.7 1.5 0000
[&5HE] X 0.036] 0.058 33 11 0.040] 0.086 20 2 0.003] 0.007 0 0.8 1.6 0 0.64] 1.91 314
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ppm | ppm B B mg/m3  mg/m3 [ B B E 8 ppm | ppm (  ppm B B ppm | ppm B ppm | ppm Z] ueg/m3| pg/m3| H % (ppmC) | (ppmC) | (B)
—#& [E L= EW & 0.029( 0.053 0 0f O| 0.042| 0.096 6 0f O |OJ x| 0.025] 0.045| 0.149 12 6| x [ 0.002| 0.008 ofO|O 0.6 1.4 0fO|O 0.38] 1.93 169
RE 0.029| 0.054 2 0f O| 0.041| 0.090 1 0f O |O| x| 0.027| 0.047| 0.138 79 7| x [ 0.002| 0.007 ofO|O 0.6 1.5 010| O
Ei5 0.024| 0.045 0 0f O| 0.036| 0.089 2 0f O |OJ x| 0.027] 0.047| 0.138 75 8| x [ 0.004| 0.012 ofO|O 0.6 1.3 010| O
=yE 0.032| 0.052 1 0f O| 0.038| 0.086 4 0f O |Of x| 0.022| 0.038] 0.141 47 2| x| 0.005| 0.014 0fO|O 0.53( 1.47 313
=3 0.023| 0.040 0 0f O| 0.042| 0.092 5 0f O |Of x| 0.029| 0.055| 0.201 118 24| x| 0.002| 0.007 ofO|O
ER 0.022| 0.042 0 0f O| 0.046]| 0.094 5 0f O |OJ x| 0.026] 0.044| 0.158 85 6| x [ 0.002| 0.008 0[O x 0.6 1.2 0 0.52( 1.24 255
Jak: Ll 0.023| 0.044 0 0f O| 0.040| 0.094 6 0f O |OJ x| 0.028] 0.047| 0.136 83 4 x [ 0.004| 0.010 ofO|O
xE 0.030| 0.053 2 0f O| 0.041| 0.096 5 0f O |OJ| x| 0.024] 0.041| 0.137 62 3| x| 0.006| 0.014 ofO|O 0.7 1.3 010|O
EH 0.026] 0.050 1 0| Of 0.047] 0.101 9 4] x x [ x| 0.025[ 0.043] 0.150 69 5| x
[SR&HfE] % 0.026| 0.048 6 0 0.041] 0.093 43 4 0.026{ 0.045| 0.150 690 65 0.003| 0.010 0 0.6 1.3 0 0.48[ 1.55 246
ZEz A EN=E 0.039| 0.063 14 7| x| 0.046] 0.101 8 1 O x [ x 0.004| 0.010 ofo|O 0.9 1.9 0fO|O 0.80| 2.76 357
bl =Fz13 0.038| 0.061 10 3| x| 0.033] 0.071 1 0] O [Ofx 0.8 1.5 010| 0O
Eti=t: 0.041] 0.060 6 0| O 0.049| 0.107 1 5| x x| x 0.8 1.5 00| 0O 0.60| 1.57 289
KB BH 0.030| 0.049 0 0f O| 0.040| 0.084 4 0] O [Ofx
I A 0.033] 0.053 4 0 O] 0.031] 0.068 0 0] O [O]x 0.7 1.4 000]|0
[$EHE] X 0.036] 0.057 34 10 0.040] 0.086 24 6 0.004| 0.010 0 0.8 1.6 0 0.70( 2.17 323
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